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1. Determine the reactions for the three-hinged arch shown in Figure 1. (25%)

5 kips/fi
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Figure 1

2. Please determine the internal forces in members 2, (6©), @D, and (9 shown
in Figure 2. (25%)

10 ft

10 fi

s 4@ 20 ft = 80 fi -]

Figure 2
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3. The pilot of an airplane carrying a package of mail to a remote outpost wishes to
release the package at the right moment to hit the recovery location 4. What angle
0 with the horizontal should be pilot’s line of sight to the target make at the instant

of release? The airplane is flying horizontally at an altitude of 100m with a velocity

of 200 km/h.  (25%)

4. The 4.8 kg slider is released from rest in position 4 and slides without friction
along the vertical plane guide shown. Determine
(a) the speed vg of the slider as it passes position B. (15%)
(b) the maximum deflection & of the spring. (10%)




